MATHEMATICS

Total Marks : 34

D P P DPP NO. 70 Max. Time : 36 min.

DAILY PRACTICE PROBLEMS

Topic : Definite Integration
Type of Questions M.M., Min.
Single choice Objective ('-1' negative marking) Q.2,3,4 (3 marks, 3 min.) [9, 9]
Multiple choice objective ('-1' negative marking) Q.5 (5 marks, 4 min.) [5, 4]
Subjective Questions ('-1' negative marking) Q.1,6,7 (4 marks, 5 min.) [12, 15]
Match the Following (no negative marking) Q.8 (8 marks, 8 min.) [8, 8]
3 2
X xX“ +1
.| |tan™ +tan™ dx
1. Evaluate : :'-1[ %2 +1 X ]
/2 /2 H
2. Given _[ - dx = /n 2, then the value of _[ - Sinx dx is equal to:
o 1+ sinx + cosx o 1+ sinx + cosx
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/2 /4
3. If1= I /n(sinx) dx then J (n(sinx + cosx) dx =
0 —-n/4
(A) L (B) . (C) - (D)1
2 4 2
.1[ m(x+1) 2
4. Letu = J 2.4 dxandv= E'; {n(sin2x)dx | then
(A) u=4v (B)4u+v=0 (C)u+tdv=0 (D)2u+v=0
2 Sin (2n-1)x 2 (sinnx )?
5 IfAn=I.—dx;Bn=J( - ] dx; forn € N, then :
0 sin x 5 { sinx
(A)An+1=An (B)Bn+1=Bn (C)An+1_An=Bn+1 (D)Bn+1 =An+1
1 1 1
6. Prove thatjtan ‘1[ > de :2_[ tan ~" xdx . Hence or otherwise,
0 1-X+X 0

1
evaluate the integral Itaﬂ_l(l_XJFXz) dx
0



1
Given that, F(x -—2j (4 -2 F (t)) dt, find F' (4).
4

Column -1

(A)

5.

8.

The value of I max. (] x], %%, x4)dx is equal to
el
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If for a continuous f(x j f(x)dx =] k| j X)+f(—x))dx, then k is/are

0
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If I e 2 (sin2x +cos 2x) dx = — 5 » then value of k is/are
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